O 2 =gl @59 & 4432 712z A vehd 227

A
D
L X
AABD ¢0 ABCD
AC 4--D C
\6\ \
B
AADC 2 ABDC
6
C
AABC OO AADE b
A
B C

AABC & ADEF(/BAE = /FBC = /DCA)



@ 44

@ <4



thg 18 9] AABC o4 AD 7} /A ¢ o]

24

A off, DC ] dol=?

D1 @2 ®3 @4 OG5




the oA BP:PC=3:2,AQ:QC =3:4°|t}. AR = 5cm
o of, RP 9] Zol& Fstot.

A




® 0,6 ® 066

® ©,6e

ORON®)

® ©,©, 0,6



thS oA AB/EF/DCe]2 AB:CD =4:1¥ o], EF : AB

=9

A




7. oE IdENA " AR WA o, x o] 2717

@ 100° ® 105° 3 110° @ 115° B 120°



8.

th HPAHAE ABCD o4 AB 9] Zol=?

~-20-~_
\
10
P
B e
C s
o 3 o e @ 37



ol

e
B

~

~
~A

N

T

Nfo
B

.
~
ojn

(Y

50°




10. o= ZdolA aPBC & Hol=?

_--ldem-
16cm
l\ P
C ~8cm~ D
447 448 449
@) fcm2 @) Hcm2 ® Tcm2
@ 90 2 3 22 (m2



11. o= Z™elA x o] AolE F5HH?

1 @2 ®3 @®4 O5




12.

e 139 AABCO|AAD: DB =3:4, BE:
EC=4:3 CF:FA=4:3°]t} FP =
4cm, PC = 7cm € W, DP 9IPE 2] Zo] 9]
22 Fatolat.

@D 2cm @ 2.5cm ® 3cm

@ 3.5cm B 4cm



13. o2 199 AD + /A 9] o] 5EAl o]
. AB=12cm ,AC =4cm ,BC =
10cm ¢ wj, BD 9] Zo]=?

@ 3cm @ gcm
@ Tcm ® ?cm




14.

th& Z1¥ellA AB // EF // DC & ™, BF

o] Zoj=?

11 10

©) S om @) 5 om ® 3cm
8 7

@ Sem ® cm




=
=

3.

L 912 oo}

ot

IH7k2] 9] A& A o=

9]



